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QUESTION 1

An ONTAP cluster is installed at a secure site. The array has no access to the Internet but is managed 24/7 by onsite
engineers. The customer requires that when hardware failures occur, the failures are reported to the NetApp Support
team as quickly as possible. 

In this scenario, which two tasks should be performed during the project hand-off procedure to satisfy the customer\\'s
requirement? (Choose two.) 

A. Ensure that Active IQ Config Advisor is installed. 

B. Ensure that the onsite engineers receive EMS alerts when hardware issues occur. 

C. Educate the onsite engineers about invoking the AutoSupport tool from ONTAP System Manager. 

D. Educate the onsite engineer about how to manually log support calls. 

Correct Answer: BC 

 

QUESTION 2

While installing a new AFF A400 HA pair, you are unable to add an NTP server from another subnet. You are able to
ping the NTP server from the new cluster. In this scenario, what are two causes of this problem? (Choose two.) 

A. The admin SVM has the wrong gateway. 

B. A firewall is blocking port 123. 

C. The time skew is too great. 

D. The cluster management LIF needs to be in a different IPspace. 

Correct Answer: AD 

 

QUESTION 3

In an ONTAP switched cluster, which three types of traffic travels over the cluster network? (Choose three.) 

A. intercluster SnapMirror 

B. intracluster SnapMirror 

C. Epsilon voting 

D. cluster database replication 

E. remote cluster peering 

Correct Answer: ADE 
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QUESTION 4

Which three components are required when setting up a new ONTAP cluster? (Choose three.) 

A. password 

B. cluster management IP 

C. node management IP 

D. Advanced Drive Partitioning 

E. intercluster IP 

Correct Answer: BCE 

Reference: https://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.dot-cm-
nmg%2FGUID-1BA3000D-2243-44E4-98CC-8D42A5C8AF8F.html 

 

QUESTION 5

You have just racked a new 6-node switched cluster with ONTAP 9.7. You need to configure the cluster switches. In this
scenario, which two elements would be used to complete the configuration? (Choose two.) 

A. SFP+ port 

B. rlogin 

C. SSH 

D. serial port 

Correct Answer: CD 
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